'TyeT: Meparory no npegmeTty
ymanoBa AHxena A6ucanoBHa, 2017/2018 yue6HbIi roa, AHFMIMIUCKUN A3bIK

. ) o YcnesaemocTb ——r Z; . ggU;
nace RIS PR Otn | Xop | Ya | Heya :‘f OCB |34 | H3 S:";HKM 6ann yenes. | .. | (%)

1-a yeTBepTh | 14 4 4 6 |0 0|0 0 |0 |O 3,86 100,0 |57,14 | 62,2

2-ayeTBepTsb | 14 6 4 4 |0 010 0 (0 |O 4,14 100,0 (71,43 (71,4

;;;w anoga) | 37 HeTeepT | 14 4 |6 |4 |o |o]o |o |0 |O 4,0 100,0 |71.43 | 66,2!

4-5 yeTBepTb | 14 4 6 4 |0 0|0 0 (0 |0 4,0 100,0 | 71,43 | 66,2

lop 14 4 6 4 |0 0|0 0 (0 |0 4,0 100,0 |71,43 |66,2!

1-1 yeTBepTs | 12 2 3 7 |0 0|0 0 (0 0 3,58 100,0 | 41,67 | 53,6

2- yeTBEpTh | 12 2 4 6 |0 0|0 0 |0 |O 3,67 100,0 | 50,0 |56,0(

;g’man osa) | 37 deTeepT | 12 2 |3 [7]o Jofo |o|o |o 358  |1000 (4167|536
4-51 yeTBeEpTL | 12 2 6 4 |0 0|0 0 |0 |0 3,83 100,0 | 66,67 | 60,6

lon 12 2 5 5 |0 0|0 0 (0 |O 3,758 100,0 |58,33 | 58,3

1-s1 yeTBeEpTL | 12 0 6 6 |0 0 |0 0 |0 |0 3.5 100,0 [50,0 |50,00

2-a 4yeTBepTL | 12 0 5 7 |0 010 0 |0 |0 3,42 100,0 | 41,67 |47.6

?&;Ma nosa) | 37 veTeepre | 12 2 |a |6 o folo [o [0 |oO 3,67 100,0 |50,0 |56.01
4-5 yetBepTb | 12 1 4 7 |0 0|0 0 |0 |0 3.5 100,0 |[41,67 | 50,6

Fo |12 1 |5 |6 |o |olo |o |o |0 3,58 100,0 |50,0 |53.0

1-a veTBepTh | 15 3 7 5 |0 0|0 0 (0 |O 3,87 100,0 [ 66,67 | 61,8

2-ayetBepTb | 15 4 7 |4 |0 010 0 |0 |0 4,0 100,0 |73,33|66,1.

?&3manoaa) 3-a yeTBepTb | 15 4 8 3 |0 0|0 0 [0 |0 4,07 100,0 | 80,0 |68,0l
4-7 yetBepTb | 15 3 8 4 [0 0|0 0 [0 |0 3,93 100,0 | 73,33 | 63,7

log 15 4 8 3 |0 010 0 |0 |0 4,07 100,0 [80,0 |68,00

1-a yerBepTb | 14 1 12 |1 |0 0|0 0 |0 |0 4,0 100,0 [92,86 | 64,5

0.5 2-a yeTBepThL | 14 5 8 1 1|0 010 0 |0 |0 4,29 100,0 | 92,86 | 74,8t
(Kymanosa | 3-A veTBeptsb | 14 6 T 1 {0 0|0 0 |0 (O 4,36 100,0 |92,86 | 77 4.
£ 4-5 yeTBepTh | 14 7 6 1 |0 0|0 0 |0 |0 4,43 100,0 | 92,86 | 80,01
loa 14 6 7 1 10 010 0 (0 |0 4,36 100,0 | 92,86 | 77,4

1- yeTBepTb | 12 2 3 7 |0 010 0 (0 |0 3,58 100,0 | 41,67 | 53,6

2-5 yeTBEpTb | 13 2 3 8 |0 0|0 0 |0 |0 3,54 100,0 | 38,46 | 52,3

?I;?/mnoaa) 3-9 yetBepThb | 13 2 3 8§ |0 0|0 0 (0 |0 3,54 100,0 |[38,46 |52,3
4-7 yerBepTb | 13 2 3 8 |0 0 (0 0 (0 |0 3,54 100,0 |38,46|52,3

oA 13 2 3 8 |0 0|0 0 |0 |0 3,54 100,0 | 38,46 | 52,3

1-a veTBepTb | 16 0 7 9 |0 0|0 0O |0 |O 3,44 100,0 |43,75|48,2!

2-7 YeTBepTb | 14 3 8 3 |0 0|0 0 (0 |0 40 100,0 | 78,57 | 65,7

(QIE;MGHOBG) 3-a yeTBepTb | 14 2 7 5 |0 0|0 0 |0 |0 3,79 100,0 | 64,29 | 59,1«
4-5 yetBepTsb | 14 2 8 |4 |0 010 0 |0 |0 3,86 100,0 | 71,43 61,1

oA 14 2 8 4 |0 0|0 0 |0 |O 3,86 100,0 |71,43 |61,1




LUKONbHBIA nopran
Mockosckon o6nacTi

https://schools.school. mosreg.ru/AsyncProgressReportHandler.ashx?a=printProgress TeacherSubjectReportData&tid=55965cd2-fbe1-4905-aafb-f...  2/2



